/VIINOURN Trainer Attachment instructions manual

(2009/07)

( For Rollers )

( For Stationary Trainer )

i
S

M6x30 Bolt (silver)

Flat Washer (silver) Band must be

1 x M6 Hex Wrench

1 x M5 Hex Wrench s

Alloy Bar  Angle Adjust Plate upper side .
M6x20 Bolt (black) \
Spring Washer (black \;

M6x30 Bolt (silver)
Flat Washer (silver) Band must be
upper side

Alloy Bar

Cradle Base

M6x14 Bolt (black)

Spring Washer (black)
M6x14 Bolt (silver) \

Flat Washer (black) Hook
(install from backside)

(" How To Assemble Band Clip )

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[ Required Tools
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[

Angle Adjust Plate
M6x20 Bolt (black)
Spring Washer (black)
)

Hook / M6x14 Bolt (silver)

(install from foreside) Flat Washer (black)

Cradle Base

M6x14 Bolt (black)
Spring Washer (black)

Follow the steps to install the Stainless Band Clip;

1) Disassemble the band clip.

2) Open the band and wind the pillar.

3) Overlap the band ends as the welded nut is located inner side. |
(s¢efig8 T - - - - - - - - - - - - - - - ---~ T T - T~
If the nut side band end has been in wrong angle, adjust the angle. , Stainless Band

4) Put the Plastic Bracket onto the band. Plastic Bracket &(45mm size)

5) Insert M6x30 Bolt with Flat Washer to the upper hole on Cradle Base, and tighten

to the center hole on Plastic Bracket gently. Flat Washer

6) After adjusting the height and angle of the attachment, tighten the bolt firmly. \

f:} The band ends must be overlapped completely.

If the nut side has been bent in wrong angle, you cannot
tighten the bolt properly. Be sure the nut is located in the
right angle (90 degrees) to the bolt line. (see Fig. C)

Do not push the bolt when tightening.
The stainless band is so thin that it easily becomes bent

and you cannot tighten the bollt.

MINOURA JAPAN 1197-1 Godo, Anpachi, Gifu 503-2305 Japan : I
Phone +81-584-27-3131 / Fax +81-584-27-7505 / support@minourausa.com Made in Japan



